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Numeracy

Write 3 million in figures

3,000,000

Write 0.25 as a fraction ‘
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Whati(s.the ooord)nate of A?
What is the coordinate of B?
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Arrange in order, from smallest to
largest
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If £1 is $1.50

Change £4 into dollar
ot [

Change £100 into dollars.
1 oo ¥ 15~ = D150
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Change $4.50 into pounds.
#5255 A2

Change £30 into pounds.

90 =15 = £20
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Foundation

Expand and simplify
5(x+3) +2(3x + 1)
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(lx +|#

dx+

Calculate x

Lo g+ Xrbg= 360

ub =360
4y y:44°

Calculate the shaded area
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Cost, (£0) Frequency

0<C <50 4

50<C <100 8 > {%
100<C <150 7 1y 877
150<C <200 10 ’-,,,r ’?‘So
200 < C €250 ‘n | 25 . 2 Y35

Calculate an estimate for the memr the
table above.

5€00 U0 = (U
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Higher

There are 20 students in class 1.
There are 10 students in class 2.

Both classes sit the same test.

The mean mark in class 1 is 64%.
The mean mark in class 2 is 80%

10

0¥ Y

Work out the overall mean for both
classes.

- 1260
do = Joo ,
2090 =14 “‘3%

Expand and simplify

(3y -2)(y + 3)

8cm

Cajculate the volume of the pyramid
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